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JDD-3/PHYSIO X-15

SECTION-A
i) Genaral Awareness

Which union territory is sandwiched
Guijarat and Maharashtra 7
&Ry Dl
(B) Daman
(C) Dadra and Nagar Haveli
(D) Mahe

Which one of the following is not a
cash crop 7

(A) Cotton

(8] Groundnut

{C}) Sugarcans

(D} Wheat

The Earth rotates on its axis from
(A) Eastio Wast

(B) Westto East

{C} North to South

(D) South to North

Temporary tax levied o obtain
additicnal revenue of the Govermment
s called

{A) Cess
(B) Rate
(C) Fee
(D) Surcharge

When there are no extarmnal forces
acling, which of the following
determines the shape of a liquid drop 7
(A)] Surface tension of the liquid
(B) Density of the liquid

(C) Viscosity of the liquid

(D} Temperature of the air

g On20™ May, 1488 Vasco-da-Gama
landed at
(A) Calicut
(B) Masulipatarum
(C) Goa
(D) Ernakulam

7. Dealhi became the capital of
Hindustan for the first time during the
raign of
(A)  ltutmush
(B) Raziya Begum
(C} Balban
(D) Quiub-ud-din Aibak

8. Which of the following gases does not
pollute air 7
(A) Carbon dioxide
(B} Carbon monoxide
(C) Nitrogen dioxide
(D) Sulphur dioxide

9, Tofund development of infrastructure
and raduce the dependence on
World Bank and IMF, India and

agreed on 24-10-2014 to form

Asian Infra Invesiment Bank.

(A) Singapore

(B) China

(C) Japan

(D) South-Korea

10. Who |s the present Governor of

Resarve Bank of India 7
(A) Mr. Kasturi Rangan
(B) Mr. Ranga Rajan

(C) Mr. Raghuram Rajan
{0} MNone of these
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i) FTET ATHHHL
T TR S T S R 6. 20TE 1498% R ar=mm e uga ?

Fdtaam e ? (a) rferrE
(A) @& B) W
(B) & : (C) TN
(C) e St e (D} T,
ety 7. Tt et A g e T
foe i & T e S TR 7 o6 TSI
(A) FTE (A) FerA

(B) EmEnamy
(B) T

(C) =
(C) T
(o) it (D) F I T

g, e e v e 7

et 3T 378 § 55 T gl © () FEER
(A) T H (B) RS
(B) AT (C) Ao =g SfwTEE
(C) FweH i (D) W ST SRS
(B, g9, saEET+ BeaE B Al wnfe
yferT Ty o FoT ST o F e et 3 ferg o foree e sl smos
i Sreamht T = B o FersivT o T o e 24-10-2014

FRAumaie__ UEEA TS
IS ST A T A 5 R
il () fimg
() ® <
(D) T (C) =UmH
S SR e e AR S, g e () =i
i, AR E AR PR AR | g0, ey fore e A e T E 2
(A) %S T (A) o, T Em
(B) =4 il HE B) . o=
(C) FAFTaAM (C) . TTH T
(D) FAEATHA (D) W AFEAA
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12,

13,

14.

15.

Among the following organisms,
which one does not belong to the
class of other three 7

(A} Crab (B) Mite
(C) Scorpion (D) Spider

Which Part of the Indian Constitution
contains the list of Fundamenial
Rights granted to Indian citizens 7
(A) Part| (B) Partll

(C} Partll (D) Pan iV

COnOct 31, 2014, Kamataka Govemment
changed the name of Bangalore as

(A) Bangalur (B) Bangaluru
(C} Benglur (D) Bengaluru

According to WSA data published on
Oct. 21, 2014 India became the

World's largest steel
producer,

(&) Fourth (B) Third

({C) Fifth (D) Sixth

The scheme launched by
Government of India which aims to
provide al least one bank account to
each household across the country is
called

{(A) Pradhan Maniri Swacchata
Yojana

(B) Pradhan Mantri Jan Gan
Yojana

(C) Pradhan Mantri Jan Dhan
Yojana

(D) Pradhan Mantri Jan Seva
Yojana

16.

17.

18.

19.

JDD-3/PHYSIO/X-15

The role model for the young
generation and World Bilhards
Champion who has walked the ramp
as a showstopper for top designers
like Wendel, Babita Malkani and
Manoviraj Khasla is

{A) Vakil Ra| Dindor

(B) Ajay Jayaram

(C} Emma Bonney

(D) Pankaj Advani

The first Home Minister and Deputy
Prime Minister of Government of
India s

(A) Jagajjevan Ram

(B) Baba Ambedkar

(C) Sardar Valiabhbhal Patel
(D) Pandit Nebru

NPT stands for

(&) MNon-Proliferation Treaty

(B) Nuclear Non-Proliferation
Treaty

(C) MNuclear Proliferation Treaty

(D) Muclear Production Test

Whao invented Radium ?
(A) Marie Curie

(B) Rentgen

{C) Edison

(D) A, Flemming

Human Rights Day is observed on
(A) March8

(B} Jan. 30

(C} December30

(D) December 10
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11.

12

13.

14,

15,

feddid A AR A &
T g A a2

(A) G (B) Tl

(SR (D) wHEl

T TR w6 e o T e B
+ widtg w@fiem & 98 g § B
T8 ?

(A) W] (8) Wil

(o 1] (D) IV

31 2rE 2014 3 T iz woem 4
E Ot e e e 2 e R E

(A) =R

(B) L

(C) =

(D) e

21 R 2014 F 7 g6 WSA
% #iwEl & oTgEn WA fave =6
Tl B TR IrdTEE W |
(A) <hem (B) T
(C} AT (D) &

T BT A a7y 1 R e
2. T avla 291 & weis uiEn |
ARA T S W g 0
TR 7

(A)  WHR HE Ew A1
(B) T HE = T A
(C) W T S o I
(D) WE H T AT A

16.

7.

18.

15.
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e fafergd Sedtaq, Zensi & wiai
wree 38 = & famraen # o e

# A WEEA SHETen

(A) AR T e “ _
(B) A= HE |
(C) TR !
(D) e SrEA \

T ¥ EE e T 3l 3n wam a8
(A) STEEtEE T

(B) TR SR

(C) TENTFAIR T2E

(D) e

NPT %1 Biefd

(&) F-mfeElEE ad

(B) = ATA-wiE R A
(C) ~gfFerm mfafeieE 3

(D) =fn ueETE iR :
e s Feoa T 7

(ay i (B) T

(C) Ui (D) e

o e W A |
(A} BWTE

(B) 30T

(c) 30 fEEw

(D) 10w “.


Ashu
Typewriter
Newjobsinfo.in


JDD-3/PHYSIO/X-15

i} General Intelligence and Reasoning Ability

Directions (Qs. 21 and 22) : From the given
alternatives, select the set which is most like
the given set.

21. (13.17.19)
(&) (17.21,29)
(B) (25,29,31)
{C) (15,18,23)
(D) (B,10,12)

22. (10,12, 14)
(A) (21,23, 24)
(B) (8,9,12)
(C) (20,22 24)
(D) (8, 10,13)

23. I 'UVCD means 'STAB', what does
HKLUJ mean 7
(A) FSiH
(B) FISH
(C) FIHS
(D) FISK

24, IfD=4, PAT=37, BAD=7, thenwhat
is the valua of ANT 7
(A) 8
(By ¥
() 35
(D) 37

BE.  1f GOLD is written as IQNF, how can
WIND be writien In that code 7

(A) YKPF
(B) XJOE
(C) VHMC
(D) DNIW

A=

26.

27.

28.

Which one of the following sets of
latters when sequentially placed al
the gaps in the given lefier series shall
complete it 7

ZX-TR-NL] -FD—

(A) VPHB

(B) VRHB

{C) UPJB

(D) VPJB

P is O's daughter, Q is R's mother,
Sis R'sbrother. Howis S related o P 7
{A) Father

(B} Grandfather

(C) Brother

(D) Son

[1,9, 25}, {4, 16, 36], [9, 25, 7]
() 47 (B) 49
{C) 50 (D) 57

Which of the following cannot be
formed from the letters of the word
“SYMPATHETIC" ?

(A) PATH
(B} ETHIC
(C) MAHE
(D) SIMPLE

-
Eamn s
[=F

(A) 4 ® 5
(C) & (D) 7
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iy T T e AT de
7. 21 3 22 % oo fdm ; P Reedida, @A o6 T d & wed st w8 e smn
TR ST T EHET w0 e, | e o fifweal o w0 # TEd d gEen
o &1t 2
21, (13,17,19)
(A) (17,21,29) ZX—-TR—NLJ-FD-
(B} (25,29, 31) (A) VPHB
{C) (15,189,223 (B) VRHB -
(D) (8.10,12) (C) UPJB i
(D) VPJB
23, (10, 12, 14) |
! (A) (21,23, 24) 27. PIEQA R Q@mERATAT 2, |
(B) (8, 9,12) SuE R WL B | SH PH FIATR.7
’ (C) (20,22 24) (ay T
(D) (9,10,13) . (B) ==
(C)

29 e 'UVCD' &1 Uaea ‘STAB' B, w1

HIKLL 51 STefeTel &1 8 7 © %=

(A) FSIH 28. [1,9,25],[4, 16, 36],[9, 25, 7]
(B) FISH (a) 47 (B) 49
(C) FIHS (C) 50 (D) 57

(D) FISK
29, *SYMPATHETIC ¥ies & et 4

24, ARED=4% PAT=3723NBAD=TR,

A ANT FI [ FE 7 4 et v e ?

) 8 (A) PATH

®) 17 (B) ETHIC

) 35 {C) MAHE

oy 37 (D} SIMPLE r
25. e GOLD = IQNF feer @ &, @ 30. 3 i e

WIND i 38 32§ %3 Termn amim 2 § 1% moay

(A) YKPF 7 4 5 8 |'

(B) XJOE BA B0 40 42

(CYy VHMC (A) 4 (B) 5

(D) DNIW (C) & e 7
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31.

32.

LAMP : PMAL | ; TIME : 7
(A) EMTI
(B) EIMT
(C) EMIT
(D) ETMI

First ten even numbers are written in
the ascending order, which number
is 3" to the right of the number which
is 8% which counting from the right 7
(A) 16
(B) 10
({C) 24
(O)y 18

Directions ((s. 33and 34): PQRSTUV
are sitling in a line facing North. R is sitting
second to the right of P, V and T are the
neighbours of R, 5 is the neighbour of U and Q
and S |s second to the right of T. V is sitting
to the left of R.

33

Who is sitfing in the middle 7

(Al R B T
(C) U o) s
Whao is sitting to the extrama right ?
Al F (B) v
ey T oy Q
TOOTH : TEETH : : MOUSE : 7
{A) MOUSES

(B) MICE

(C) MISE

(D) MICES

Newjolastnbaidn

36.

37.

38.

53,7,16, 317

(A} 42 (B) 64

(c) 83 (D) 85

If ‘who are you' is coded as “nic mok
del” and 'you are good' is coded as
‘del nic pik" and 'who is good’ Is
coded as “pik mok kip”, which is the
code word usad for "is™ 7

(A) plk

(B) kip

(C) mok

(D) nic

Raju travels 7 Km. to the West, from
there 5 Km. 1o the North, from there
12 Km. to the East. Now in what
direction is he from his starting pont ?
{A) South

(B) South-East

(C) Morth

(D) Morth-East

Choose the alternative which does
not belong to the group of the other
three.

(A} Mislead

{B) Guida

(C) Direct

(D} Superintend

It + means -, x Means +, — Means
+ Means +,
12:6-2x8+4=1
(A) 12

(C) 2

(B) 4
{0y 3

Newjobsinfo.i =
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31, LAMP:PMAL:: TIME:?
(A) EMTI
(B) EIMT
(C}) EMIT
(D) ETMI

a0 e o6 wy HEmd s e o e
& | Tt s B e g med wem #
arfi wn del sen = 2 7

(A) 18
(B) 10
(C) 24
(D) 18

u 33afnsas e fdn:. PORSTUVE
T ¥ ahmE T d B R R P F
i wAn gEt B R | V3T U R g
B ismusim Qe TEE 2 i s ae T el
SN FEMH TR |V T8 R S dar # |

93, EETFHEIE?
(A) R B) T
() u (O) S

34, TEftarmA a7
(A) P
s T

By W
D}y Q

35. TOOTH:TEETH:: MOUSE: ?
(A) MOUSES
(B) MICE
(C) MISE
(D) MICES

A

JDD-3/PHYSIO/X-15

a8 1,3,7.15317

(A) 42 B) 64
(C) 63 (D) €5
37. af% % @0 4 # 2 § “nic mok del” n
vt ¥, g =W 7= ' "del nic pik’
feran ¥ o w3972 1 “pik mok kip”,
forant 8, Arger F v g w2
(A)  pik
(B) kip
(C) mok
(D) nic

38, geufEm i siv 7, s E R,
aetd I s o, aef a6
AR 12 & I 2 | s ae smiees
firg & Fel e w2 2
(a) =hem
(B) =
(C) 3
(D) I

39 T faemen i =it ae fH & a
w2 T B
(&) =
(B) WIFEIE FAT
€y FEmEm

(D) T Al

40, AR - = HEwE — 8, x TIOATH + T,
—F O 8, AT+ HEed <8,
12+6-2xB+4=7
(A) 12
(C) 2

(B) 4
(D) 3
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iii) Arithmetical and Numerical Ability

41,

42,

If (& =1.732, 300 - 12 =7
(A} 12863

(B} 13.856

(C) 11.567

D) 0.436

o g2 =7
(A} 1
By 2
(C) 4
(B 0

When an article s sold for Bs. 53
there is a profit of Rs. 3. What should
be its selling price to make a profit of
10% 7

(&) Rs 52
(B) Rs.54
(C) Hs.55
(D) As.56

The market price of a ¥ 10 share is
T 12. How many shares can be
purchased by investing T 2,400 7

(A} 200 (B) 120

(c) 2o (D) 240
Iflog 6 = 0.5236 and log 2 = 0.2314,
log 3="7

(A) 0.1412

(B) 0.2822

ISy 026%8

(D) ©.7550

-1

48.

47,

48.

49.

0.

JDD-3/PHYSIO/X-15

PA and PB are tangents drawn lo a
circle of centre 'O’ from an external

pgh[?,lf|F'ﬂA=5ﬂ°;tﬁPB=?

(A) B0° (B) 100°
(C) 40 (O)  s0°

Find the sum of all the first 50 natural
numbens,

(A) 1250
(8) 1225
(C) 1275
(D) 1245

LCM and HCF of two numbers are
(a€ - b®) and ‘1", If one of the numbers
is {a + b), find the other.

(A) &

(B) b*

(C) (a%+b?)

D) la=b)

A chord of length 8 om is at a distance
of 3 cm from the cantre of the circle.
Find the radius of this circle.

(A) Gcm
(B) 5cm
{C) 4cm
(D) 35cm

What iz the difference betwean the
compound interest and simple
interest for 2 years at 10% for a
deposit of Rs. 50,000 7

(&) Rs. 500
(C) HRs, 200

B Rs. 00
(D) Rs. 150




)00 A G0 R
fii) T T T A
46. 'O ¥ o g9 & A g P A Wi

41.

42.

afz 3 =1.7328.7 300 - 12 =7
(&) 12.631

(B) 13.B56

(C) 11.567

(D) 0,438

212 =7
@ 1

(B) 2
C) 4
o) 0

o 05 T % 5. 53 T A= w1 8,
%, T HATHT R | 10% TAH TH &
fere Frspy v vy T =TT 2

{A} . 52

(B) ¥.54

(C} %.55

(D} %.56

7 10 T ST ATETE e 1278 132,400
fram & e s Sl s oswd 8 7
(A) 200 (B 120
(C) 20 (D) 240

It log 6.=0.5236 % 3N log 2=0.2314
2. @iog3="7

(A) 0.1412
(B) 0.2922
(G} 0.2618
(D) 0.7550

A4

47.

49,
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T PA 3 PB 7 9w # | Al
| POA=50° R, | APB =7

(Ay 807 (8) 100°
(C) 40° (D) &sO°
qE! 50 ST ST 1 ST
AT i |

(A} 1250 (B) 1225
(C) 1275 (D) 1245
2 g w1 ey o rEEE
(a® — b2) 3T 1 % | 7% U HEH (& + b)
2, At 7w i |

(A &

(B) b?

(C) (a2+b?)

(D) {(a-bj

gil i, T A A gE & w2 8

a# . gl o # | 7| ga &t B
Hifam |

(A) BH.HEL
(B) SH.=.
(cy 48,
(D) 35H.H,

%, 50,000 717 91 2 =97 & o 10% 2T
3 =g la =ms S e = # AW
(E e A

(A) . 50O
(C) % 200

(B) % 100
(D) % 150

"




at.

et
2P ugleg?

1
(A) 2 (B) 20

©) =

= oy 1

fa+b=3 a®-ab+ b2 =7, find the
value of (a3 + b),

(A) 20 By 21
(Cy 22 (D) &

324248
Jizafis T
(A) 01
(B) 4
(C) 2
D) O
There are B players including Raju.

How many teams of 5 of these players
can be made with Raju as captain 7

(A) 35
(B) 40
(C) 70
(B)y 30

What is the probability of drawing a
face card when a card s drawn at

random from a pack of cards 7
5 B

A 2 ® 7
3 4

© 3 © 13

=27,

28,

53,
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The diagonal of a square is 1042 cm.
Find its area.

(A) 100 cm?
(B) 40cme
(C) B0cm?
(D) 50cm?

How many subsets of set P = {m, n}
can be obtained 7

(A 1
(C) 3

B) 2
(D) 4

The middle number of a set of 25
numbers which are in Arithmetic
prograssion is 20. Find their sum,

(A} 200 (B) 400
(C) 500 (D) 450

Atrain runs from P 1o Q at a speed of
80 Km./H and relurms from Q1o P ala
speed of B0 Km./H. Find the average
speed of the lotal joumey.

(A} 70Km/H

(B) Eﬂgi{miH
(C) B4Km./H

(D) ﬁﬂf? Km./H

A family of 5 persons can ba
maintained for 20 days with T 2,480,
Find, how long T 6,944 maintain a
family of 8 persons,
(&) 30 days
(C) 25days

(B} 35 days
(D) 32 days




51.

En;-:21:::22
x5 wxa”

:
() 2 ® 3

1
© 3 oy 1
dfta+b=32a2—ab+b2=7% A
(a3 -+ &%) = ey e i

(A} 20 (B) 21

(C) 22 D) &

3J2 +243
NP T
(A) 01

(B) 4

{C) 2

Dy O

e, 1 et 8 flaendl £ | T & e
T T 7y 5 faenteat i e a
TS 71 Tt B 7

(A) 38

(B) 40

(C) 70

(D) 30

el o T O Y e A ST
T AT I 2 FSTEE o & 7

5 &
W34 ® %

3 4
13

(C)
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56. UF o = fEi10J28 8 2 | saad
1 S AT |

(A) 100#.5i2
(B) 40%.Hi2
(C) so#.f2
(D) s0®.#2
67. ®H==q P = {m, n) & o=
Eesa R
(A) 1 | 2
(C) 3 (D) 4
58. THT HE o 25 FEmsil & aup A dm
ol T 208 | 3 AT A it |
(A) 200 (B) 400
(C) 500 (D) 450
59. UH A PHQF 2 60 Km/H & 3
T QF PRI 80 K. H T 8 3l
? 1 5 w3 sftan ohy g il
(A) 70 Km/H
() EE%Hm..i’H
(C) 64Km./H
(D) ﬁa;; Km./H
0. w5 = faTal = wiEw ¥ forw 2o faat
wE-ure % fom £ 2,480 wiw 2
g safaal & gt i T 6,944 1 feaa
B tmam A aasdfit
(A} 3ofEm (B) 35T
(C) 25f= (D) 32fE

-
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iv) Test of Language : Hindi

e e : et
l g1, ‘ufEE’ w fawgdw v g4, e wes &1 g9 foifan |,
|
(A) FafE (A)
(B) (B) =E=7
(C) =i
(C)y "3
(D) TrmfE
(0} e

S2y iy ammestieies 65, W oyeR T o YR s fatay |

()

l_ (A) T
| =gl
| (C)
() ZEmm
| (D) Y
| (D) FEEM
63. ‘AER-TEE RIS g e 66, 55 Al d
(&) =&FHT (A) TaE Wl
| ) T s
| (C) FHEM !
L (0 e i
A+ o
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g7. ‘widma’ e wi AW fafan | 71, 72, 73 %1 et =1 Tavrgm & iy, |
(A) T _
B) famd T,
) afs (A) FEE
(D) = (B) S _
}
C) =
68 & 70 Framit el = g fafin | %)
(D) <
8. (A) TEIFH
o 72 wEEE
(G) T
(A) ==
(D) T
(B) #FEE
69, (A) T (C) Wt
(B) =& ) T *
{C} TH
(D) wHZ 73, HEw
(A) T
70. (A) WEE
(B) s '
(B) AR
i (C) Hrafew
(C) |
o) 9 (D) Hr=mwEn .IL
A# 18- 1'




| A0 V00000 ST 0 R T
74, ST I8 AT T A, |

(A) TAFNFE?
(B) oW @ & 87
(C) AR 7

(D) 9 w7

75, T A sen FEm T R
(A) FEE
(B) geaa
(C) =
(D) &

76, I ] rEETEE €T EY R
(Ay =
(B}
(C} &=
(D) =

77. 2 3TeE W wgEe w0 B
(A) S
By
(c) el
(D) 2

JDD-3/PHYSIO/X-15

78, 79, B0 3 e @ el @ v |

78, Safmamaras _ afsma
(A) iﬂﬁﬁ"
(B)
(C) e

(D) =reri

79. S TEO I A0 AW FEIH

(A) HEH
(B)
(C) F@MA
(B)

80, W W I W AH qF F
(A) T
8) ==

(C)

(D) ==

-16-




v) Test of Language : English

we ity ¢ st

Directions (Qs. 81 to 84) : Find out in which
part (A), (B} or (C) of the sentence there is an
arror. | there is no error, your answer is (D).

a1,

82.

83.

B4.

He educated not anly (A) / his
nephew, but also set him (B) / up in
business (C). / Noemor (D)

| paid (A) / the price of this car (B) / by
cash (C). / Mo error (D)

Passing by the damage house (A}/a
brick was dislodged (B) / and fell on
my shoulder (C). / No error (D)

Thi website which does not accept
advertisements (A) / and is funded
entirely by donations, describes
itsalf (B) / as the fifth most popular
website on the planet (C). / No error (D)

Directions (Qs. 85 to 87) : Choose the word
which Is most similar in meaning to the given

word,

B5.

Aw

INDICATIVE
(A) Abstract
(B) Suggestive
(C) Repeatad
(D) Induct

JDD-3/PHYSIOJ/X-15

868. OBSTACLE

fA) Impediment
(B) Obsolete
(C) Aftract

(D) Stable

B7. PALTRY
2 (Ay  Trifling
(B} Noble
(C) Valuable
(D) Strong

Directions (Qs. 88 1o 80) : Choose the word
which is most opposite in meaning o the
given word.

88. GRADUAL

(A) Slow

(B8) Grand

(C) Rapid

(O} Empty

“f7-




B9, OFFER
(A) Extend
(B) Withho!d
(C) Presant

(D) Tender

80. FOREIGN
(A} Alien
(B) Strange
{C) Native
(D) Frame

Directions (Qs. 81 to 93) : Read ihe passage

and answer these questions based on it.

Tha low unit of gas is & temptation to anyone
choosing between gas and electrical
processes. But gas-fired processes are often
less efficient, require more floor space, take
longer and produce more variable product
quality. The drawbacks negate the savings
many businesses believe they make.

A=

JDD-3/PHYSIOJ/X-15

By contrast, electricity harnesses a unique
range of technologies unavailable with gas.
And many electric processes are well over
a0 percent efficient, so far less energy Is
wasted with benefits in terms ol products
guality and overall cleanliness, it can so
often be the better and cheaper choice. Isn'l
that tempting ?

91. What does the writer mean by

‘variable quality’ 7

(A) Products from gas-fired
processes ara inafficient

(B8) The quality of the product
cannot be assessed

(C) The guality of the product is
not untlorm

(D) The kind of products vary
from time to time

g2, “Electricity harmesses a unique rangs

of technologies” — what does the

writer mean 7

(A} Electricity has developed new
technologies

{B) Electricity ensures power for
electricity and its efficiency

(C) Electricity makes use of
saveral technologies

(D) Eleciricity depends on naw
kinds of technology
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93. The passage can be described as 87. Within a moment ha burst
(A) An -advertisement for tears.

elactricity and its efficiency (A) In
=) fﬂm extract from a sclence {B) Outin
journal
II

(C} An appeal not to use gas (E) COffinto
(0) Anaccount of tha growth of (O} Inte
technology j
98. “She had been cooking”
Directions (Qs, 84 to 97 ) : Pick the choice The: tanse: of the-varb In the: above l
o complete the sentence correctly. Santancs s .
1 (A) Pastparfect
84, They have no housa fo
(A) Live . (B) Presenl continuous
(B) Live for (C) Pastpedect continuous
(G} Live in (D) Future
(D) Live on
99. “He gave me a good advice".
85. | hope you don't mind Part of speech of the word ‘advice' in
(&) My coming in the above sentence is
(B} Matocomein (A) Verb
(C} | coming in (B) Noun
(D) |iocoma in (C) Adjective
(D) Adverb |
86, Hsvisitistoknow ____ the |
plight of the people. 100. The plural of ‘woman’ is \
(A) Himsall (A} Women |
(B} By himseif (B) Wemen |
(C) For himself (C) Womans LI
(D)  In hirnmsalf (D) Wemens I\
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SECTION - B
Post Specific Subject-Related Questions

101, Which fs the stronges! ligament 7 105. Toe raising spring is indicated in
(A} lio-lemoral ligament (A) Equinus deformity of foot
(B} Ischio-femoral ligament (B) Footdrop
(C) Pubo-femoral ligament (C) Flatioot
(D) Transverse acelabular (D) Knes flexion deformity
ligamant |
106. Which of the following tendon is most
102.  Stabiity of knee joint depends mainty on commaonly ruptured in rheumatoid
{A) Bony configuration disaaze ?
(B)  Muscles (A) Aduetor pollicis longus
(C) Ligaments (B) Extensor poliicis brevis
(0) Tendons (C) Extensor poliicis longus
103. Cock up splint is used in the (B) Extensor indicis
managament of

107, Eariest movement impaired in T8 hip is
(A} Ulnar nerve palsy

(B) Brachial plexus palsy E:: ;::F::Em
(C) Radial nerve palsy i
(D) Combined Ulnar & Median
Nerve (D) Abduction
104, Milkwaukee brace is used in 10B. Cob's angle is measured in
(A) Scoliosis (A) Kyphosis
{(B) Fracture Skull (B) Scoliosis
(C) Fracture Tibia (C) Lordosis
(D) Fracture Femur (D) Lateral Flexion
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T -7
ez Fafafees -t o
101, Wea Seel sifEE e 7 106, SETTET I ST e gia
(A)  Arft-T6-31fEme A F
(B) BT - FE-arfeaEy (A) v T o
(C) w-35-mfEEs (B) B
(D) I U T (C) e i ‘
(D) = AIE |
‘ 102, gEtE ) e e W R R ) \
W A 108, @mmﬁmﬁﬁﬁmmm
! : W E A R 7
i85 (A) Ad pollicis |
ucior 1G5 1GNQUs
¢y ey "
(B} Extensor pollicis bravis
(D)} ™

(C) Extensor pollicis longus |
103, i 51 ez Iwam e A EA R {D) Extensor indicis |

(A) - R E I 107, TB #ifor & sy HeeE, 9 gEe e

(B) WUE FieTh TEER

(A) = |
(C) =if: wehi e ATy TET @ e
(D) 3 o e e e TR AT () s |

104, Rresargeh s 3w el g (D) e :

(A) T 10B. e =1 1 5 A1 B
(B) S @i (A) il
() i fafeen () By wHiferaTiEa
(D) WFATE (cy e

(D) o HE

A Z1-




109,

110.

111,

112,

Which test would be most useful to
confirm the diagnosis of Bicipital
Tendonitis 7

(A) Halstead mansuver

(B) Apprehension lest

(C) Droparmiest

(D} Yergasn'stest

The first functional task that to be

taught to a patient with T2 spinal cord

njury

{A) Roliing

(B) Self range of motion

(C) Ambulation with long leg
braces

(D) Bad to whesl chair transfer

Ciub foot in new born is treated Dy
(A) Surgery

(B) Manipulation by the mother
(C) Dennis Brown spiint

(D) Strapping

Commonest cause of wrist drop is
(A} Intra muscular injection

(B) Fracture humerus

(C) Dislocation of elbow

(D) Dislocation of shoulder

113.

114,

115

118,

JDD-3/PHYSIOX-15

Soft Ussue calcification around the

knee |s see in

(A) Scurvy

(B} Scleroderma

(C) Hyperparathyroidism
(D) Pseudogout

The mostimportant sign in Volkman's
ischemic contractura is

(A) Pain

(B) Pallor

(C) MNumbness

(D) Obliteration of radial pulse

Maximum weight used for skin
traction is
(A} Skg
(B) 7kg
(C) 10kg
(D} 15kg

Treatment of Acute Myosilis
Ossificans is

(A} Active mobilization
(B) Passive mobilization
(C) Infrared therapy

(D) Immobilisation




109.

110,

111,

112

amfifies Tretfifzn & TfEm =
im0 & T s oierm aimdd
IR 7

(A) e g

(B) meras it

(C) it wu = wtiem

(D) I (Yargasn) e

Te W51 WiE 91 Wi &1 TEe
Torarne T =t e @, @2 8
(A) TEF

(B) ife &t %= wim

(C) et wrwdl @) & e zed
(D) e & i ] T

TEST H A (FEH BE) 1 3T P
(A)

(B) it g aR=EE

€y B faee

(D) hEn

frez v =1 =1/ HWm
(A) 3 efr e
(B) o wmfE

(C} wret = e
(D) e favarae

113.

114,

115.

116.

JDD-3/PHYSIO/X-15

T % STRIITH §E F E1 AT
354 T

(A) =

(B) e

(C) fEgm

(D) e

Fiewi- & FEH S GEE F S
e R
(A) HiE

(B) wiEmw
(C) Eam
(D) fe: wErfE 7ea o

w1 FN1 (TR Ta) & o st
CEEERLIUE LIRS

(A} 5Skg

(B) 7kg

(Cy 10kg

(D) 15 kg

e tefrny sfEEEm e
(A) wfea=e

®) Ffssa = e

(C) ymiE R

(D) e &
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117. Pathognomic sign of traumatic 121. Kneading, wringing and roliing are

i all specific variations of which basic
(A) Swelling e WU
{B) Tendemess
(A) Effeurage
(C) Redness
i (B} Vibration
(0} Crepitus
(C) Petrissage
118.  What s tha position of immobilization
in fractura of both bones of the (D) Tapotement
reanm I'I"IHH >
i 122, Which amang the following finding is
Prore.
o commonly associated with Lalt heart
(B) Midprone
failure 7
(C) Full supine
(D) 10 degree supine (A} Distended neck veins

(B) Liver and spleen congestion
118. Besl diagnostic procedure for ACL

injury
- (A} Lachman's test (D) Pulmonary edema

{C) Peripheral edema

(B) Pivotshilt test
123. Which following treatment activities
(C) Anterior drawer test

(D) Mc Murray's test would be most essential to improve
u

ventilation in cystic fibrosis 7

120. Which is improving with exarcise 7
il (A) Gait training

(A} Osteocarthritis
(B) Ankylosing Spondylitis {B} Family training
(C) Neurogenic Joint (C) Postural drainage

(D) Rheumatoid Arthritis (D) Home adaptations




A=
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17, Ay i =7 T Heh 121, e, den e e wi e Al
Ay = Y Y HEE A T
il (A) FFE (affourage)
(C) =l
(D) FHien (Femwe) By, e
. (C) Ui (Petrissage)
118, =fer ges H wag & g st dmEe .
% # e o1 FEufs 2 1 B s e
/ () 3t oo, i & W Pt s w A
(B) e et Y wadifaeemd gEgand
5 RIET a) Sefiginared Rt
D) 10 fmft e |
(B) @ed 3R el § e
119, ACL =12 & apa Farmars ffsen 2
) (C) i vEm
(A) SR
g e e (D) g E (3ie)
(C) st g ew 125 R e S
: (R g B A RPN
‘ 120, =7FTH & H4 S0 e g (A) =T Wi
(A) srfcmTemETy B) TRETCHRE
(B) =it wrdifafEa s
(C) THEE
(C) =ufafEsE
(D) i s wte (D) WUHAFEE




124.

125.

126,

127.

The rate of pin rolling tremors in
Parkinson's disease is

(A) 1-2times per second

(B) 20— 30 times per second

(C) 16 times per second

(D) -8 times per sacond

Blind nasal intubation is indicated in
(A) Traumatic quadriplegia

(B) Cervical spondylosis

(C) Fracture mandible

(D) T.M. Joint ankylosis

Thomas knee flexion test is
performead by

(A) Abducting diseased hip
(B) Adducting diseased hip
(C) Flaxing dissased hip
(D} Flexing normal hip

Modified Allen's test is used for
(A) Radial artery

(B} Brachial artary

(C) Politeal artery

(D} Dorsalis pedis anary

128.

128.

130.

131.

JDD-3/PHYSIO/X-15

Which neuromuscular would be most
appropriate 1o improve a petient's
lower extremity strength ?

(A) Contract relax

(B) Repeated contraction

(C) Rhythmic stabilization

(D) Hold-relax

Manual therapies can be applies 1o
(A} Joints.

(B) Muscles

{C) Neural structures

(D) Al of the above

Cooling down exercises are
parformed for a period of

(&) 5108 minules

(B) 1102 minutes

(C) 1510 20 minutes

(D} 30 to 45 minutes

Bamboo spine 8 seen in
(A} Tuberculosis
(B) Rheumatoid arthritis

(C) Onchronosis

(D) Akylosing spondylosis




124,

125.

126.

127.

A

e v i T e
(A) BFEH 1-290

(B) H%EH 20-304W

(C) BFEH 16N

(D} HFEH G-BFW

SRS HE FAEEA SEH Hfa T
(A) T T e

(B) dwiteaitan

(C) gy ¥l

(D) T.M. Joint ankylosis (@ Ffa=)

wToE e SR T
(A) Trmre ST sToEda
(B) T Aifin = sifived =
(C) T i ) e
(D) T wifin =t S

a3 & e F1 I e
e Em e

(A) afe: s w

(B) g

() wifafzas gufl

(D) Ehwer ufan aut

JDD-3/PHYSIO/X-15

128, W= =T fFee S0 O e S

129,

130.

131,

Teru, i Al - e i @
(A) FE= ST

(B) TR

(C) =g feafemm

(D) eSS SIH

ERETTeT iR 3 fe e e 2
(A) ¥z

(B}

(C) dAREHEET

(D) Foitad

Fifer =13 =AW et smhh F fow
fEm T g 7

(A) 5% 8fimz

B) 182

©} 15% 20 fime

(D) 30# 45 fiFe

| A YEA ) =
(A) =ETT

(B) i e ey
(C) SR

(D) s e




132. Theresting membrane potential of the

skeletal muscle is

(A) =B0m

(B) —70My
(C) —80omV
(D) —50mV

133. The mean dielectric constant value of
body tissue 15
(A} 50
(B) 70
({C) 80
(D) €0

134, Salective impulses are used for
stimulation of

2 (&) Innervaled muscles
(B) Denervated muscles
(C) Muscle strengthening
(D} Muscle straining

135. Cold reduces pain asit is
(A} Reduces transmission of
neural impulses
(B) Actas counter irritant
(C) Releases opicids
(D) Al of the above

136.

137.

138,

139.

JOD-3/PHYSIO/X-15

The law which explains about the
direct relationship of the metabolic
rate o increase tissue temperature Is
(A) Joule's law

(B) Van't Hoff's law

(C) Grotthus law

(D) Eddy's law

Strong superficial heating relieves
pain by

{A) Counter irritatian

(B8) Increased blood supply

{C) Microwaves

(D)} None of the above

The proportion of solid wax to mineral
oil in paraffin wax treatments should
be

(&) 7:1
B) 5:1
C) 4:1
D) 3:1

Fluidotherapy refers to

{A) Dry heat modality

(B) Fluid immersion therapy

(C) Application of analgesic fluid

(D) Application of radiation
through fiuid




132.

133

134.

135,

e it oY fireeft wmn Fifa o
Tt #

(A) —60m

(B) —70Mv

(C} —80mV

(D) —50mV

T % Feh w1 e e ey
qea
(A) 50
(B) 70
({C) 80
(D) 90

SATERE SATAT 3 I G I
fom & 8

(A) i afird

(B) mftm i

(c) T = e a

(D) i = faam

witer ofter ot 9w § i

(A) AR SEY TR
HAT R

(B) W= & %0 § =W H §

(C) SfUei=s (opioids/#1 fags
AR

(D) Firasd

136.

137.

138,

139.

JDD-3/PHYSIO/X-15

HEatel i o # e o 79 1w
UL A R e R awd
(ay =

(B) dzeiewfam

(Cy iem frm

(D) wEiw s

i 7= AT e 5| T e
w4

(a) e

(B) il # g

(C) wmEEE

(D) Fwli=ig e

i 1 Faferem o 2w i a0 wfe
e @ e R

{A) 7:1

B) 5:1

(C) 4:1

() 3:1

AEE (Fluidotherapy) %1 7A@ £
(A) T FT

(B) =g i fafem

(C) rEnE | F I

(D) 3@ g Gl = 3w

=

g




140.

141,

142,

143,

The choice of modality to treal paintul
joints of nands of a rheumatoid
arthritic patient is

(A} Holpacks

(B) Infrared ray

(C) Microwave diathermy

(D) Paraffin wax bath

Hellotherapy is treatment by
(A) Matural sunlight

{B) Russian current

(C) Dynamic curren

(D) Mud packs

The cavitation effect of ultrasound
application to body is

(A} Micromassage

(B} Rise in local lemperature

(C) Analgesic effect on nerves

(D) Gas bubbles in tissues

Treatment of choice for supraspinatus
tendinitis is which of the following ?
(A) Short wave diathermy

(B) Ultrasonic therapy

(C) LASER

(D) CPM

144

145.

148,

147.

JDD-3/PHYSIOJ/X-15

The Alpine sun lamp is positioned at
a distance if

(A) 20cm

(B} 100cm

(C) 45050cm

(D) 4500cm

Tha frequency of microwaves are
{A) 300 MHz-300 GHz

(B) 10 MHz ~ 100 MHz

(C) 200 MHz

(D) 400 MHz

PUVA therapy is used for
(&) Alopecia

(B} Psoriasis

(C) Pressure soras

(D} Plantar wars

In physiotherapy the class ol laser
used is

(A) Class—1

(B) Class—4

(C) Class—2

(D) Class -3
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140, Tiida - ey wife % dreradin are 144, ST 6 0 6 58 0 v B
# W= F I9=n & fom e uaf
e i 7 il
(A) EEUE (B) 100cm i
(B) A= fEEm (C) 45050 cm .
(C) WhiEE FW-9 (D) 4500 cm [
(B) R 145. TgEHTEE ot A vt 2
141, Bferned) ® s g fafan (A) 300 MHz — 300 GHz
; (A) Yl g (B) 10 MHz— 100 MHz
(B) ®Hft=ie . (C) 200 MHz
(C) e se (D) 400 MHz
(D) wEY*
| 146, PuvA Fafrmm 7o T @
142, AT % IR T ST T I
i
(A) HIEEHHETH ) L
(B) it A H =g (C) wwum
(C) e o e i (B}~ e
: (D) Fent % geme 147.  vitfoes Rl  dor 6 7 vl 3o
143, gieres S w i d @ S Lo
iR IvEm R 7 (A) I -1
() T 3= Fm-ar B) -4 |
(B) Feg) @it ke (©) -2 |
(C) &t (Laser)
(D) -3 [
(D) CPM |
|




148B.

148,

150.

151,

When treating a large wound the
methed of application of laser
selected is

{A) Grd method

(B) Scanning method

]
(D) Nene of the above

Grid or scanning mathod

To reduce spasticity following which
modality is mare suitabla 7

(&) Cryotherapy

(B} Ultrasonic

(C) TENS

(D) Hot packs

Dielectric constant of dry air is
(A 2

(B) 1

(C) 5

By 10

Presence of muscle fibrillation

indicates which of the following 7
(A} Hyperexcitability of motor unit
(B} High neural discharge rate
)
(D)

Loss of muscle innervations

Upper motor neuron defect

152,

153

154.

JDD-3/PHYSIO/X-15

To assess the C5 dermatome of a
patient diagnosed with an iIncompiete
spinal cord injury the therapist should

examing

(A} MNeck

(B) Superior portion of the chest
above axilla

{C) Thumb and index fingar

(D) Deitoid area of the lateral arm

MNerve which responds best 1o repair &
(&) Median

(B) Ulnar

(C) Sciatic

(D) Radial

Nermal angle between vertical lines
of temur.and tibla 15

(A) 7 degrees

(B) 12 degrees

(Cy 1.5 degrees

(D} 0.5 degrees




148,

149,

150.

151.

a Hra o I A e I e
Tt vt et @

(ay firg (el gafa

(B) = wala

(©) firmw @ fm e

(D) Sl A

At & 5 e & fo fre O & e
Gricake

(A} R

(8) Hgm

(C) TENS

(D) wedH

T ATy 4 Tl e
A 2

@) 1

(C) &

(D) 10

AT o A S T e R S
&

(A) TRtgEE d ATGEEE R
(B) o= bk I

(cy v+ e |

(D) St Hie Al Ty

152.

153.

154,
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sl we-Te =12 A Faw w ale
C5 =t faeifer w0 o o fafieg
1 T T T e

(A) T

(B) iE & FwaEr e =1 W
(C) sy 3 AT

(D) e g 1 FrtorER

R RO s wiake 2m
(A) TRy

(B) i i

(C) =

(D) = whifsE

Fater A fefaesn & e e &
a1 Fafia w2

(a) 7 Tt

(B) 12 e

() 1.sfEf

(D) osfEf
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155,  The most powerful musde of the body is
(&) Quadriceps
(B} Gluteas maximus
(C) Gastrosoleus
(D) Deltoid

166, Tuber joint angle in normal adult is
(A} 10 degrees
(B} 30 degrees
(C) 60 degrees
(D) 90 degrees

157. The mostcommaon type of contraciure

in patient with a transfemoral

amputation is

(A) Hip Flexion
(B) Hip Extansion
{C) Hip Adduction
(D) Knee Flexion

158. Which assistive devica allows for a

two point, three point and four point
gait pattern 7

(A} Stralght cane

(B) Walker

(C) Quad cane

(D) Axillary crulches

159.

160.

161,

162.

JDD-3/PHYSIO/X-15

Coughing is usually considered &
reflex conirolled by alferent

atimulation of the

(A) Trigeminal Nerve
{B) WVagus Nerve

{C) Phrenic Nerve

(D) Glossopharyngeal Narve

The rate of nerve regeneration after
(A} 1 mm per day
(B} 1cmperday
(C) 2 mm per day

(D) 2em perday

Length of growth ol bone is
accomplished by

(A) Periosteum

(B) Epiphysis

(C) Metaphysic

(D) Epiphyseal plate

The first bone to ossify in latal life is
(A) Skull

(B} Vertebrae

(C) Clavicle

(D} Femur
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163. Most sansitive structure in a joint is
(A} Articular Cartilage
(B) Synovium
(C} Fibrous Capsule

(D) Baone

184. Transverse fracture of medial
maliecius is caused by
{A) Abduchon
(B) Adduction
(C)} Rotation of foot
(D) Dorsiflexion of fool

165, Tha treatment of choice for non-union
of extra capsular fracture neck femur
{A) Hipspica
(B) Intra medullary nailing
{C) Internal fixation
(D} Comprassion plating

186. Treaiment of choice for a fracture of
neck of humerus in & 70 year old
male is
(A) Analgesic with arm sling
(B) U slab
(C) Arthroplasty
(D) Open reduction + Internal

fixabon

167,

168.

168.

170.

JDD-3/PHYSIO X-15

The treatment measure for iransverse
fracture of patella in a young adult is
(&) Tension band wiring

(B) Cylinder cast

(C) Paltellectomy

(D) Conservative

Commeonest site for osleogenic

SErCOMAs is

(A} Upper end of femur
(B) Lower end of temur
(C) Upper end of tibia
(D) Lower end of tibla

Treatment of solitary bone cyst is
(A) Cursttage

(B} Excision

(C) Curettage and Bone Gralting

(D} Irradiation

Sun-ray appearance in X-rays
suggest

(A) Pagets disease

(B) Chondrosarcoma

(C) Ostecgenic sarcoma

(D) Osteoclastoma
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171,

172.

173

174,

A

Increased bone densily ocours in
(A) Cushing syndrome

{B) Hypoparathyroidism

(C) Fuorosis

(B) Hyperparathyroidism

Marble bone disease is also known as
(A) Ostecgenesis Imparecia

(B) Ostecporosis

(C) Perhe's disease

(D) Onchronosis

Therapeutic program for goul could
include administration of

{A) Heavy dose of Vitamin C
(B) Phenyl butazone
(C) Furadatin

(D) Gold therapy

Treatment of anterior dislocation of

shoulder is by
(A) Kocher's maneuver
(B) Dennis browne splint

{C) Barlow's maneuver

(D) Surgery

175:

176.

177.

178.

JOD-3/PHYSIO/X-15

Avascular necrosis is common with
(A) Fracture trochanter

(B) Fraclure shaft of femur

(C) Fracture head of humearns

(D) Fracture neck of femur

Death occurs, 3 days afier pelvic

fracture is most likely to be due o
(A) Haemorrhage

(B) Pulmonary embolism

(C) Fat embalism

(D) Respiratory distress

First treatment prionity in patient with
muitiple injuries is

(A) Airway maintenance

(B) Bleeding control

(C) Circulatory volume restoration

(D) Splinting of fractures

Chemically Plaster of Paris is

(A} Calcium phosphate

(B) Calcium sulphate

(C) Anhydrous calcium sulphate

calcium

(D) Hemihydrated
sulphatea
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179. In pyramidal tracts lesions, least

aftected is

(A) Hip flexion

(B) Knee flexion

(C} Fool plantar fiexion

{0V  Foot evarsion

180. Maijority of the sirokes are due 1o
(A) Carabral Infarction

{B) Hemomrrhage

(C) Liver Disorders

(D) Head injury Idiopathic

181, Lewy bodies will be present in
substantia nigra In

(A} Multiple Sclerosis

(B) Alzheimer's

(C) Parkinsonism

(D) Demantia

182. The lower meningeal irntation is
assessed by

(A) Kernig's sign

8)
(C)

(D) Distraction test

Compression lest

Meck range

183,

184.

185

186,

JDD-3/PHYSIO/X-15

SLA test is indicated in

{A) Nerve root Compression
(B) Assessrange

(C) Assess muscle strength

(D)} Assess ligament strength

The functional assessment |s done by
(A} Berg scale

(B) Ashworth scale

(C) MRC grading

(D) Chordometry

The range of movement assessment
is done by

(A) Goniometry

By GPM

(G) Quadricep stable

(D) Inchtape

Fish head appearance of the
vertebral bodies is seen in

{A) Pagets disease

(B)
()

Rickots

Osteomalacia

(D) Osteoporosis
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187. Airplane splint is used for
(A) Brachial plexus palsy
(B) Myositis ossificans
(C) Volkman's ischemic
contracture

(0 Fracture talus

188. What should be the temperature of
watar in hydrotherapy 7

{A) 27 1o 35degree
(B) 22 to 42 degree
(C) 32 to35degrae
(0) 351038 degree

189. Putti-Platt oparation is used for
(A)  Mon unlon of humerus
(B) Dislocation of patelia
(C) Dislocation of radial head

(D) Recurrent dislocation of

shoulder

180, Apraxia s a resull of lesion in
{A) Frontal lobe
(B) Parietal lobe
(C) Oceipital lobe
i) Temporal loba

191.

192,

1€3.

1584,

JDD-3/PHYSIO/X-15

Goose naeck deformity is found in
(A) ASD

(8) V5D

{C) AP window

(D) PDA

Lateral wedging is given to correct
(A) Genu valgus
{(B) Genuvarum
(C) Fiat foot
() Cleft patate

Which of the following is important for
medicd legal point of view 7

(A) Documentation

(B) Written informed consanl

(C) Realization of responsibility
(D) Al of above

Knee fiexion in prone lying is an

example of
(A) 1% order lever

(8) 2™ order laver

(C) 3™ order lever
(D)} 4" arder lever
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(A RO 0

185. InG.B.S. parial to complate recovery

takes, usually within how many

months 7

(A) upto3
(B) 3-8
(C) 6-9

(0) 9-12
186. Sqguatting and descending in the
slairs become difficull in case of
(A} ACL injury
(B) PCL injury
(C) MCL injury

(D) Meniscus injury

197. Drop arm test indicates
(A) Weakness of delioid
(B} Rupture of supraspinatus

(C) Positive painful arc

(D} Weakness of brachialis

198.

199,

200.

JDD-3/PHYSIO/X-15

Relaxed passiva movaments is

mainly useful for

(A} Muscle strengthening

(BY Improving joint range of
mation

(C) Remembrance of pattern of
movement

(D) Improving co-ordination

Pain in the buttock is suggested of

pain of
(A) Lumbar spine
(B) Hip joint
(C) Piriformis

(D) Trochanteric

Most serious complication of
arthroscopy is

(A} Haemomhage in the joint

(B) Damage to articular cartilage
(C) Compartment syndrome

(D) Synovial fistula
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12,

13

14

158,

18,

17,

. You are NOT requlred o mark your answers

Tmn booklet containe 48 pages.

Pieasé check all the pages of the Booklel
carefully. In case of any defecl, please ask
the Invigilator for replacement of the Booklel.
Directions ;| Each guestion or mcomplele
slatement |s followed by four afternative
suggested answers or completons. In each
case, you are required 1o seleat the one that
cormaclly answers the question or complales
the staterment and biacken (@) appropriate
circle &, B, C or D by Blue / Black Ball-Point
Pen against the question concerned in the
Answar-Sheal. (For V.H. candidates
corresponding circle will be blackened
by the scribe)

Mark your answer by shading the appropriato
circle against each guesbon. The circle should
ba shaded completely withoul eaving Gny Space.
The correct mathod of shading ia given bolow.

I Fotel e yoxe) I Yoxel [ot Yool

The Candidate must mark his/her response
after careful consideration.

There ia only one correcl answer 10 each
question, You should blacken (@) the alrcle
of thir appropriate column, viz., A, B, Cor 0.
It you blacken (@) more than one circle
againsl any ona queation, the answer will be
treated as wrong. | you wish to cancel any
answer, you should complately erass thal black
mark in the circle in the Answer-Sheet, and
then blacken the circle of revised response.

A maching will read the: coded informaiion
in the OMR Answer-Shaet. In case the
information is incomplete/differant from the
Information given in the apphcation form, the
candidalure of such candidate will be treated
a8 cancefed

Lise the space for rough work given in the
Guestion Booklet only and nel on the
Answer-Sheel.

in this Booklet, All answers musit be
indicated in the Answer-Sheet only.
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